

Predictive Marker of Disease Activity in Breast Cancer Patients with and without Metastasis

Hassan Nourmohammadi¹ , Syedeh Negin Mirbeigi¹ , Arash Nademi² , Elham Shafiei³ 

¹Non-Communicable Diseases Research Center Ilam University of Medical sciences, Ilam, Iran

²Islamic Azad University Ilam Branch, Islamic Azad University Science and Research Branch, Ilam, Iran

³Clinical Research Development Unit, Ayatollah Taleghani Hospital, Ilam University of Medical Sciences, Ilam, Iran

Article Info

Article type:

Research Article

Article History:

Received: Apr. 13, 2024

Revised: Jun. 18, 2024

Accepted: Jul. 22, 2024

Published Online: Sep. 09, 2024

✉ Correspondence to:

Elham Shafiei
Clinical Research Development
Unit, Ayatollah Taleghani
Hospital, Ilam University of
Medical Sciences, Ilam, Iran

Email:

shafiei-e@medilam.ac.ir

ABSTRACT

Introduction: Levels of the human epidermal growth factor receptor 2 (HER2) gene are low in normal breast tissue, but half of the patients with breast cancer exhibit higher levels of this receptor. The differential expression of the HER2 gene in normal and malignant cells makes it an excellent biomarker for therapeutic purposes. In this study, we evaluated the degree of HER2 overexpression in patients and its relationship with age and the occurrence of metastases.

Materials & Methods: In this retrospective, registry-based, two-center cohort study, information on 1500 breast cancer patients recruited from Shahid Mostafa Khomeini Hospital in Ilam Province was collected from 2020 to 2023.

Results: The likelihood of metastasis in cancer patients with HER2 gene expression was three times higher (adjusted OR: 2.82; 95% CI: 1.79–3.29; P=0.001). Additionally, the involvement of lymph nodes (adjusted OR: 2.01; 95% CI: 0.87–3.79; P=0.03) was significantly associated with increased metastasis.

Conclusion: This study demonstrates that HER2 gene expression and the number of involved lymph nodes are significant prognostic factors that increase the risk of metastasis. Therefore, implementing comprehensive breast cancer screenings can play an important role in the treatment and prevention of metastasis in breast cancer patients.

Keywords: Breast Neoplasms, ERBB2 Protein, Humans, Neoplasm Metastasis

➤ How to cite this paper

Nourmohammadi H, mirbeigi SN, Nademi A, Shafiei E. Predictive Marker of Disease Activity in Breast Cancer Patients with and without Metastasis. J Bas Res Med Sci. 2024; 11(4):20-27.

Introduction

Breast cancer, the second leading cause of death after lung cancer, is one of the most common cancers among people aged 45 to 55 (1). Each year, more than 1.1 million women worldwide are affected by breast cancer (2-4). Several factors have been identified as risk factors for breast cancer, including breast trauma, history of radiation therapy, and menopause. Monitoring certain biomarkers, such as Ki67, HER2, progesterone receptor (PR), and estrogen receptor (ER), is useful in the diagnosis and treatment of breast cancer (5).

The nucleus-associated Ki-67 antigen is a protein marker associated with significant cellular proliferation, and its expression is correlated with invasion (6). The immunohistochemical investigation of HER2, along with ER and PR, has recently become a routine clinical practice integrated into the management of breast cancer patients in Ivory Coast, where data on HER2 are scarce (7). HER2 (human epidermal growth factor receptor 2) is a proto-oncogene located on chromosome 17q, coding for the tyrosine kinase receptor found on the surface membrane of breast epithelial cells (8, 9). It affects epidermal growth factor to regulate various cellular functions, including apoptosis, cell survival, and cell proliferation. Understanding the basic mechanisms of HER2 overexpression in breast cancer has led to the discovery of new anti-HER2 targeted therapies for better management of this disease (3, 10).

The HER2 gene plays a crucial role in the diagnosis and treatment of breast cancer patients, which is important both in Iran and globally (11). Therefore, this study was conducted to compare gene expression in cancer patients with and without metastases.

Materials and methods

Sampling

This retrospective cohort study was based on registry data of 150 breast cancer patients referred to oncology clinics in Ilam province from 2020 to 2023, focusing on the use of clinical registries. Inclusion

criteria were confirmed breast cancer in the pathology report, availability of tissue samples, and absence of malignancy in other body organs. Exclusion criteria were patient dissatisfaction at any stage of the study and destroyed tissue samples. The Medical Ethics Committee of Ilam University of Medical Sciences approved this research (Ethics code: IR.MEDILAM.REC.1402.140).

Laboratory data

To conduct this study, all patients referred to oncology clinics in Ilam province were evaluated, and those whose diagnosis of breast cancer was confirmed by a pathologist based on histological samples were included. Initially, informed consent was obtained from the patients, who were also given the option to withdraw from the study at any stage. A detailed history of the disease was taken from the patients included in the study, and their demographic information was recorded on the patient information collection sheet. Subsequently, the presence of metastasis was assessed through history and clinical examination, supplemented by paraclinical measures as needed, based on the patients' complaints and symptoms.

For instance, a chest x-ray (CXR) was taken for patients with complaints of shortness of breath or cough, and any effusion fluid was sent for cytology. In cases of bone pain, a bone scan was performed. Patients with hepatomegaly, right upper abdominal pain (RUQ), or liver enzyme disorders (LFT) underwent an abdominal CT scan. Additionally, patients with neurological symptoms were subjected to brain MRI to check for brain metastases.

After collecting the necessary information and assessing metastasis, the patients' tissue samples were re-evaluated by a trusted pathologist using immunohistochemical (IHC) staining for HER2 receptor analysis.

After obtaining the necessary information from the patients and examining for metastasis, the patients' tissue samples were re-evaluated by a trusted

pathologist using immunohistochemistry (IHC) staining for the HER2 receptor. Four-micron thick sections were prepared from paraffin blocks of the patients' samples. The slides were then stained for HER2 using the streptavidin-biotin immunohistochemistry method with the DAKO kit. After staining, the stained tumor cells were evaluated by a pathologist, and the HER2 grade was determined on a scale from 0 to 3.

- Grade 0: No membrane staining or staining in less than 10% of cells.
- Grade 1: Focal membrane staining in more than 10% of cells.
- Grade 2: Complete but weak to moderate membrane staining in more than 10% of cells.
- Grade 3: Complete and strong membrane staining.

Cases graded as 0 and 1 were considered negative, while cases graded as 3 were considered positive. Cases graded as 2, being borderline, were further examined using the Fluorescence in Situ Hybridization (FISH) method to minimize false negatives. Grade 3 cases in IHC evaluation and

positive cases in FISH were considered HER2 positive.

Tumor grade was analyzed based on histopathological diagnosis, age, tumor size, and lymph node involvement. Agreement tables and the odds ratio coefficient were calculated. Multiple logistic regression tests were also used for prediction. The software used for data analysis was STATA version 12 (STATA Corporation, College Station, TX).

Results

The mean age of participants in the metastasis group was 49.9 ± 7.6 years, and in the non-metastasis group, it was 51.34 ± 6.4 years. Most of the studied breast cancer patients had undergraduate or postgraduate education (33.9%), the majority were married (93.5%), and most were housewives (82.3%). None of the patients in the study reported a history of smoking, alcohol, or drug use.

The expression level of the HER2 gene was inversely correlated with the age of patients in the study, indicating that higher HER2 positivity was associated with younger age (P value = 0.04). The results of this study showed that 48% of the breast cancer patients were positive for HER2 gene expression.

Table 1. Comparison of Mean Variables and Tumor Size in Individuals with and without Metastasis.

Characteristics	Metastasis=732(%)	Non-Metastasis=768(%)	P-Value
Age	49.9 ± 7.6	51.34 ± 6.4	0.35
The size of the tumor (cm)	4.32 ± 2.3	3.12 ± 1.01	0.164
Multiple lymph nodes are involved	7.45 ± 5.8	4.23 ± 4.8	0.044
The number of lymph nodes is removed	13.07 ± 4.23	10.78 ± 4.76	0.88

Table 2. Univariate Regression Models for Factors Associated with Metastasis

Risk factors	Crude odds ratio (95% CI)	P-value
Age	1.09 (0.89-2.14)	0.23
Tumor size (cm)	0.96 (0.79-1.16)	0.69
0-20mm	1**	

20-50mm	1.47 (1.27 – 1.65)	0.06
>50	1.62 (1.00 – 3.15)	<0.001*
Multiple lymph nodes involved		
0	1**	
<3	1.47 (1.27 – 1.65)	0.013
4-9	1.93 (0.87 – 3.79)	<0.001*
>9	1.37 (0.86– 2.69)	0.028
The number of lymph nodes removed	0.93 (0.78 – 1.11)	0.83
ER	1.57 (1.11-2.23)	0.039
PR	0.98 (0.93-1.02)	0.41
Grade	1.09 (0.89-1.35)	0.23
Her2	2.76 (1.43 – 3.29)	<0.001*

**Reference category

*Significant

Univariate analysis using the logarithmic distribution confirmed a significant association between HER2 level and metastasis (TR: 2.76; 95% CI: 1.43 – 3.29;

$p < 0.001$), indicating an increased risk of metastasis with higher HER2 levels (Table 2).

Table 3. Comparison of Mean Variables and Tumor Size in Individuals with and without Metastasis.

Risk factors	Adjusted Odds Ratio (95% CI)	P-value
Multiple lymph nodes are involved		
0	1**	
<3	2.14 (1.27 – 1.65)	0.010
4-9	2.01 (0.87– 3.79)	<0.001*
>9	2.51 (0.86– 2.69)	0.061
Her2	2.82 (1.79 – 3.29)	<0.001*

**Reference category

*Significant

In the multivariate model adjusted for other variables, the adjusted TR for HER2 level was 2.82 (95% CI: 1.79 – 3.29; $p < 0.001$). For lymph node involvement (4-9 nodes), the adjusted TR was 2.01 (95% CI: 0.87 – 3.79; $p = 0.03$) (Table 3).

Discussion

According to the results of this study, increased HER2 gene expression in breast cancer patients in the Ilam region was associated with the development of metastases, which negatively impacts the patient's condition. The average age of the women referred to

the clinics was 49.9 years, which aligns with other domestic studies (12). This average age is approximately a decade lower than in some other countries (13).

This study found that 48% of breast cancer patients were positive for HER2 gene expression, consistent with results from a study conducted in Tehran by Kadivar et al. (14). In contrast, studies in other regions have reported different percentages: 23.3% in Isfahan (15), 32% in Gilan (16), 13.6% in Arak (17), and 30.8% (18).

Variations in HER2 overexpression reports can be attributed to differences in operator techniques, which may explain some of the discrepancies between studies. Additional evidence from Turkey (32.1%, 19), Palestine (16.1%, 20), Saudi Arabia (32.3%, 21), Ivory Coast (15.6%, 22), Japan (34.2%, 23), Kenya (17.6%, 24), Hong Kong (21%, 25), Puerto Rico (20.9%, 26), and Jordan (17.5%, 27) indicates diverse percentages of HER2 gene positivity.

This study demonstrated a positive association between HER2 gene expression and the presence of metastases. Specifically, HER2 gene expression was 2.82 times higher (OR = 2.82) in the metastasis group compared to patients without metastasis. These findings are consistent with those of Khudabakhshi et al. (28), who reported a direct relationship between HER2 overexpression and the occurrence of metastasis in breast cancer patients. Najaf et al. found that the probability of metastasis or death was 2.64 times higher in HER2-positive patients compared to HER2-negative patients, with more metastases observed in HER2-positive cases. Similarly, Mirzaei et al. found that HER2-positive patients had more advanced tumors. Although these studies support our findings, Naini et al. did not find a correlation between HER2 gene hypermethylation and tumor size or grade according to disease stage.

Estrogen receptor status has been identified as a prognostic factor in some studies (29). However, in the present study, its significance was not observed, a finding that is consistent with another research (30, 31).

In our sample, an increase in tumor size was associated with a higher relative risk of metastasis. Nevertheless, this difference was not statistically significant, aligning with the findings of Lakoska's study (33). In contrast, other studies have identified tumor size as a significant prognostic factor (29).

Given that increased HER2 gene expression is commonly observed in breast cancer patients and is

associated with the development of metastases, it is crucial to further investigate the effectiveness of drugs targeting this receptor.

Diagnosing HER2 gene overexpression through tissue sample examination is both invasive and costly. Despite its importance in diagnosing breast cancer, there is a need to explore alternative methods, such as measuring serum HER2 levels, and to compare the sensitivity and specificity of these methods with histological examination (34).

HER2 overexpression is strongly associated with a high risk of recurrence, reduced overall survival, and increased mortality in breast cancer patients.

Conclusion

The results of this research provide valuable insights into the state of breast cancer among women in Ilam, specifically regarding HER2 marker expression. These findings can be utilized to develop targeted prevention and treatment strategies, enhancing the management of breast cancer in the region. The study faced limitations due to the cost of measuring HER2 serum levels and the availability of this biomarker in a limited number of patients. Consequently, the statistical population of this research was restricted. To mitigate this limitation, sampling was conducted with precision to minimize the loss of samples.

Acknowledgements

The research team expresses gratitude to the Clinical Research Development Unit at Ayatollah Taleghani Hospital, Ilam University of Medical Sciences, Ilam, Iran.

Financial support

This study was supported by the Deputy of Research at Ilam University of Medical Sciences.

Conflict of interest

The authors declare that there are no conflicts of interest.

Authors' contributions

ESH developed and designed the study, collected the clinical data (NM), and drafted the manuscript. HN and ESH participated in the study conception and design, supervised the study, and critically revised the manuscript for important intellectual content. NH and AN critically revised the manuscript for important intellectual content. All authors have read and approved the final manuscript.

References

- Berrian JL, Liu Y, Lian M, Schmaltz CL, Colditz GA. Relationship between insurance status and outcomes for patients with breast cancer in Missouri. *Cancer*. 2020. doi:10.1002/cncr.33330
- Kaufman CS. ASO Author Reflections: Is Survival Sufficient? There's More to Address for the Breast Cancer Surgeon. *Ann Surg Oncol*. 2020. doi:10.1245/s10434-020-09350-4
- O'Shaughnessy J, Brezden-Masley C, Cazzaniga M, Dalvi T, Walker G, Bennett J, et al. Prevalence of germline BRCA mutations in HER2-negative metastatic breast cancer: global results from the real-world, observational BREAKOUT study. *Breast Cancer Res*. 2020;22(1):114. doi:10.1186/s13058-020-01349-9
- Samuel Eziokwu A, Varella L, Lynn Kruse M, Jia X, Moore HCF, Thomas Budd G, et al. Real-world Outcomes of Cyclin-dependent Kinase Inhibitors Continued Beyond First Disease Progression in Hormone Receptor-positive Metastatic Breast Cancer. *Clin Breast Cancer*. 2020. doi:10.1016/j.clbc.2020.09.010
- Berg T, Jensen MB, Jakobsen EH, Al-Rawi S, Kenholm J, Andersson M. Neoadjuvant chemotherapy and HER2 dual blockade including biosimilar trastuzumab (SB3) for HER2-positive early breast cancer: Population based real world data from the Danish Breast Cancer Group (DBCG). *Breast*. 2020;54:242-7. doi:10.1016/j.breast.2020.10.014
- Han C, Zhao F, Wan C, He Y, Chen Y. Associations between the expression of SCCA, MTA1, P16, Ki-67 and the infection of high-risk HPV in cervical lesions. *Oncol Lett*. 2020;20(1):884-92. doi: 10.3892/ol.2020.11634
- Sant M, Bernat-Peguera A, Felip E, Margelí M. Role of ctDNA in Breast Cancer. *Cancers*. 2022;14(2):310. doi: 10.3390/cancers14020310
- de Paula BHR, Kumar S, Morosini FM, Calabria Cardoso DEM, de Sousa CAM, Crocamo S. Real-world assessment of the effect of impact of tumor size on pathological complete response rates in triple negative breast cancer after neoadjuvant chemotherapy. *Chin Clin Oncol*. 2020. doi:10.21037/cco-20-111
- Gui X, Li H, Yan Y, Zhang R. Efficacy of lapatinib combined with capecitabine in patients with HER2-positive metastatic breast cancer in a real-world study. *Oncol Lett*. 2020;20(6): 378. doi:10.3892/ol.2020.12241
- Dawood S, Konstantinova M, Perazzo F, Kim SB, Villarreal-Garza C, Franco SX, et al. Optimizing the management of HER2-negative metastatic breast cancer in the era of PARP inhibitors-proceedings from breast cancer expert group meeting. *Chin Clin Oncol*. 2020;9(5):61. doi:10.21037/cco-20-138
- Schettini F, Chic N, Brasó-Maristany F, Paré L, Pascual T, Conte B, et al. Clinical, pathological, and PAM50 gene expression features of HER2-low breast cancer. *NPJ Breast Cancer*. 2021;7(1):1-13. doi:10.1038/s41523-020-00208-2
- Hachen Jr DS. The competing risks model: A method for analyzing processes with multiple types of events. *Sociological Methods & Research*. 1988;17(1):21-54. doi:10.1177/0049124188017001
- Katz A, Strom EA, Buchholz TA, Thames HD, Smith CD, Jhingran A, et al. Locoregional recurrence patterns after mastectomy and doxorubicin-based chemotherapy: implications for postoperative irradiation. *J Clin Oncol*. 2000;18(15):2817-27. DOI: 10.1200/JCO.2000.18.15.2817
- Joulaei A, Joulaei S, Kadivar M, Hajibabaei FJInr. Living with breast cancer: Iranian women's lived experiences. 2012;59(3):362-8
- Mokarian F, Hashemi F, Moatamedi N, Ramezani MA, Mohajeri MR, Abdeyazdan N, et al. Investigation of Prognostic Factors in Breast Cancer and their Relationship with Age and Cancer Stage. 2012;30(193)
- Najafi B, Fakheri TJJoGUoMS. Relationship of HER-2 with other clinical-pathological diagnostic criteria in breast cancer patients. 2006;15(57):21-7
- Moshfeghi K, Almasi Hashiani A, Motezaker JJTIJoO, Gynecology, Infertility. The relationship between HER2-overexpressing and incidence of breast cancer recurrence. 2014;17(100):10-5. doi:10.22038/ijogi.2014.2869
- Semnani V, Farhidzadeh E, Mirmohammadkhani M, Ghahremanfard FJK. Investigation of blood levels of vitamin D in women with breast cancer and its correlation with prognostic markers. 2017:735-41.
- Kuzhan A, Adli M, Alkis HE, Caglayan DJO. Hormone receptor and HER2 status in patients with breast cancer by races in southeastern Turkey. *J BUON*. 2013; 18(3):619-22.
- Khaled H, Salem B, Omar A-s, Omar H, Fuad S, Jerusalem PJPAJoO. Prevalence of hormonal receptors ER, PR and HER-2 NEW in breast cancer cases in Palestine. 2009;2(3):28-31
- Khabaz MNJAPJCP. Immunohistochemistry subtypes (ER/PR/HER) of breast cancer: where do we stand in the West of Saudi Arabia. *Asian Pac J Cancer Prev*. 2014;15(19):8395-400. DOI: 10.7314/apjcp.2014.15.19.8395
- Effi AB, Kouli BS, Koffi KD, Traore ZC, Kouyate MJAPJoCP. Breast cancer molecular subtypes defined by ER/PR and HER2 status: Association with clinicopathologic parameters in ivoirian patients. *Asian Pac J Cancer Prev*. 2016;17(4):1973-8. DOI: 10.7314/apjcp.2016.17.4.1973
- Luangxay T, Virachith S, Hando K, Vilayvong S, Xaysomphet P, Arounlangsy P, et al. Subtypes of Breast Cancer in Lao PDR: A Study in a Limited-Resource Setting.

- Asian Pac J Cancer Prev. 2019;20(2):589. DOI: 10.31557/APJCP.2019.20.2.589
24. Sayed S, Moloo Z, Wasike R, Bird P, Oigara R, Govender D, et al. Is breast cancer from Sub Saharan Africa truly receptor poor? Prevalence of ER/PR/HER2 in breast cancer from Kenya. *Breast*. 2014;23(5):591-6. DOI: 10.1016/j.breast.2014.06.006
25. Yau T, Sze H, Soong IS, Hioe F, Khoo U, Lee AWJHKMJ. HER2 overexpression of breast cancers in Hong Kong: prevalence and concordance between immunohistochemistry and in-situ hybridisation assays. *Hong Kong Med J*. 2008, 14(2):130-5.
26. Ortiz AP, Frías O, González-Keelan C, Suárez E, Capó D, Pérez J, et al. Clinicopathological factors associated to HER-2 status in a hospital-based sample of breast Cancer patients in Puerto Rico. *P R Health Sci J*. 2010;29(3):265
27. Sughayer MA, Al-Khawaja MM, Massarweh S, Al-Masri MJP, Research O. Prevalence of hormone receptors and HER2/neu in breast cancer cases in Jordan. *Pathol Oncol Res*. 2006;12(2):83-6. DOI: 10.1007/BF02893449
28. Khodabakhshi R, Reza Gohari M, Moghadamifard Z, Foadzi H, Vahabi NJRJoMS. Disease-Free Survival of Breast Cancer Patients and Identification of Related Factors. 2011;18(89)
29. Koizumi M, Yoshimoto M, Kasumi F, Iwase T. An open cohort study of bone metastasis incidence following surgery in breast cancer patients. *BMC cancer*. 2010; 10:1-8. doi:10.1186/1471-2407-10-381
30. Lackowska B, Niezabitowski A, Rys J, Skolyszewski J, Stelmach A, Gruchala A, et al. S-phase fraction and menopausal status as the most important prognostic factors of disease-free survival for node negative patients with breast cancer. A prospective study. *Pol J Pathol*. 2003;54(2):101-10
31. Nielsen HM, Overgaard M, Grau C, Jensen AR, Overgaard J. Loco-regional recurrence after mastectomy in high-risk breast cancer—risk and prognosis. An analysis of patients from the DBCG 82 b&c randomization trials. *Radiother Oncol*. 2006;79(2):147-55. DOI: 10.1016/j.radonc.2006.04.006
32. Rondeau V, Mathoulin-Pélissier S, Tanneau L, Sasco AJ, MacGrogan G, Debled M. Separate and combined analysis of successive dependent outcomes after breast-conservation surgery: recurrence, metastases, second cancer and death. *BMC cancer*. 2010; 10:1-12. doi:10.1186/1471-2407-10-697
33. Beck P, Wysowski DK, Downey W, Butler-Jones D. Statin use and the risk of breast cancer. *J Clin Epidemiol*. 2003;56(3):280-5. dOI: 10.1016/s0895-4356(02)00614-5
34. Nourmohammadi H, Azami G, Taghinezhad F, Shafiei E. Risk and Benefit of Antiplatelet Therapy in COVID-19 Patients with Cancer and Thrombocytopenia: Letter to the Editor. *Cancer Invest*. 2021;39(3):217-218. doi: 10.1080/07357907.2020.1871485.